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20168HA & BIOISIH Ola S
o HE)
2] Al £
o o JI™oAY | HDEY - AHO AN | JIFOMY | HDBA
- = (8) (A-8) - = (A) (8) (A-8)
1. THat= 25,782 A1,283 |1, OIAM3IH] 250 250 0
2. 0123 1 0 2. ASHI 491 491 0
3. 29 48 Ad6 |3, XA 282 282 0
4. B53 6,100 7,247 A1, 147
5. SR 16,490 16,490 0
6. HEEXS 0 0 0
7. BN 490 490 0
8. oyl 399 581 A182
Al &t 25,831 A1,329 R 24,502 25,831 A1,329




o= a2 I HI D
A E D x
o | s - (4l AkOH Ol At OH =2
1. THak2=2l 24,499 25,782 A1,283
1. 12T A2 8,009 9,292 A1,283
1.EZ=A €82 SRS 20} 234-1 6.61m° E& =D
1.0012 | 980 | 980 . EXYX2
(EXIYRIE) ’ ’ o O 660,0009 * SAI3AF = 1,980,0002
Al 1,980,0002
2.0 20l 6,029 6,029 0 1. 222 J|I2MHAH(EE2)0 28 S0/ KL
JNESe] e 587,637% * 2°€ = 1,175,274
o 485,4382 * 102 = 4,854,380
H: 6,029,654
3. 0IAl 0 1,283 A1,283 [1. 2016 HOINEZ2Z2(MNTHMBA) (2N
32 o HOIE HOIN &33(1,283,520)
= J|8t L} OlAlD
H 0
o AN 2ECH 16,490 16,490 0
1. EX 16,490 16,490 0 1. $AZI2THALHEX) HLHS
OH24CH o MEA (R ALKSE 304 119 Q 3T
Al 16,490,000
2. 0122 1 1 0
1. 89z oa2 1 1 0
1. 849 1 1 0 1. MEg ol22
olg= e 1,804% * 13| = 1,804
3. &9l 2 48 46
1.0 20| Xt 2 2 0
2 2 0 1. HOIEAR BE020|K2¢
1.88
—olx o 11,2402 + 2802 + 4802 + 8502 = 2,850<
o= 0t H: 2,850
0 46 46
2. T
1. &2 0 46 AdB |1, BIOINIEIZZ2 (ZNH)
o SIS HHOIN &322 (46,9108)
= J|8t L} OlAlD
H 0
_ * HOIN EI229 2HO2 0I5 HIUEH 24
Ml &t 24,502 25,831 1,329

1,283,520& + 46,910& = 1,330,430&




M = = AR
&= A5 pIEs Hl D
- EbIRE
o | 5 = Off Ak 4 Off Ak oK =2
1. OlAF3IHI 250 250 0
1.0/ AF3I | 250 250
1.39/4| 50 50 . Ctorgl
25,0008 * 23| = 50,000
A 50,000
.92 200 200 0 |
=&l 2K AMH| 50,0002 *43] = 200,000
A 200,000
3.04Hl 0 0 0
2. AF2HI 491 491 0
1.224| 491 491 0
1.2 491 491 0 IERNEESIIEE
aaals] 1Xt @ 170,740
2%t 1 170,740
3% : 100,000
Lol JENA X2 Al BOAH HE
SOIA® HIE : 50,0002
H 1 491,480
3. MAFXAY] 282 082 0
1. T A2 1 282 282 0
1.2 L EHD| LXE 2IIFXIAM
8= 60,0002 * 23| (LG, KT)= 120,000
F} 3 | = T
- 082 0 BN =A A2 2I1FIAM
80,910+ 23| = 161,820
H: 281,820
4, ME2 6,100 7,247 A1,147
1,852 6,100 7,247 A1,147
1.8 6,100 7,247 A1,147 HESUZ2 ME =6,1002 (2H)
=Py 1Xt : 2,000,000
=stn 2% 1 4,100,000
- AABEZ ¢ 3,050,000
- dZ=EE2 ¢ 3,050,000
StNE HON B22 ME = 02 (2LH)
A : 6,100,000




5. EXtd] 16,490 16,490 0
1. E Xy 16,490 16,490 0
1. 2URI|2MMAHEX-HFAl 272 HA2AS 3Dt
N 119 2 3ZX) HL2S ZEIIMW2 olX
16,490 16,490 0 ) _
=yl o SIZXHAEDIIMS0IXI: 16,490,000
H @ 16,490,000
6. HASTXI= 0 0 0
1. HEEX=
1. A E
X=
7. BXNE 490 490 0
1.HX= 490 490 0
1.842 0 0 0
2. J|E} 490 490 0 1. JIEtHIXI &
SIS o« AIE 2 S}EH|
100,000€ * 23| = 200,000
« MEMBEZZDSSDHOIE S|
10,0009 * 198'2 = 190,000
e OIAIBIURFIH(HMEAIEEZEDESINYHIFHIF])
100,0002 * 13| = 100,000
At 490,000
8. OlldIHl 399 581 A182
1. OlHIHl 399 581 182
1. OllHIH 399 581 A182 |1, OlHIHI(2H)
Hl: 399,000
NES R 24,502 25,831 1,329




